QUIZ 9 - MATH 151 Friday, April 15
YOUR NAME: George Voutsadakis

Read each problem very carefully before starting to solve it. Each problem is worth 5 points.
It is necessary to show all your work. Correct answers without explanations are worth 0 points.

GOOD LUCK!

1. Let f/(x) = ZXYT Tf f(1) = 3, find f(x).

2. If the acceleration function of a moving particle is a(t) = cost + sint, find the position of the
particle, if it is given that s(0) = 0 and v(0) = 5.



3. Use the definition of the definite integral to compute f25 (2z — 1)dz.
(Recall >0 i = W)



